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N N5 He JE S
Base=T1 4| Arag(g) HI2%) Afag(%) H12%) (B/A)
® MA & (501) 100 (501) 100 1.00
Jer
R} (242) 48 (242) 48 1.00
of X} (259) 52 (259) 52 1.00
o
18-29] (55) 11 (82) 16 149
30-394] (40) 8 (60) 12 150
40-49M (66) 13 (85) 17 129
50-594] (114) 23 (99) 20 0.87
60-694 (121) 24 (89) 18 0.74
70N 0|4 (105) 21 (86) 17 0.82
X%
17 (256) 51 (285) 57 111
2AY (245) 49 (216) 43 0.88
ZARE SEA £4
AR MRS () N5 He IIE MRS ()
= 7 R} ofxt 7 R} of %}
A4 501 242 259 501 242 259
18294 55 33 22 82 43 39
30394 40 19 21 60 31 29
A 4049A 66 32 34 85 42 43
50594 114 59 55 99 49 50
6069A| 121 51 70 89 42 47
70M Of & 105 48 57 86 35 51
A 256 122 134 285 139 146
18 29A 27 18 9 50 26 24
30-39AM 23 9 14 37 19 18
149 40-49A 34 18 16 50 25 25
50~59A 59 32 27 56 28 28
60~69A| 60 23 37 46 22 24
70M O] 53 22 31 46 19 27
2 245 120 125 216 103 113
18294 28 15 13 32 17 15
30-39AM 17 10 7 23 12 11
2 4049 32 14 18 35 17 18
50594 55 27 28 43 21 22
60694 61 28 33 43 20 23
70M| O| & 52 26 26 40 16 24
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A ZAretz 7;%35;
AREE) | oy % % % % % %
Atgl==(3)
m HH m (501) (501) 4 6 11 79 1 100
g4
XN (242) (242) 3 7 9 81 1 100
Of xH (259) (259) 4 5 13 77 1 100
i ]
18-29M| (55) (82) 12 12 31 40 5 100
30-39A (40) (60) 0 4 20 76 0 100
40-49M| (66) (85) 3 7 7 83 0 100
50-59A (114) (99) 3 5 4 87 1 100
60-69A| (121) (89) 2 7 7 85 0 100
70M| 0|4 (105) (86) 1 2 2 96 0 100
Xy
HMFEAZL 18 (256) (285) 5 12 78 1 100
HEAIY 2#Y (245) (216) 2 10 79 1 100
A
S/2/0 (16) (13) 0 5 0 95 0 100
NS R (101) (100) 1 5 6 87 1 100
THo{ /< &/ M H| A ] (45) (46) 1 3 24 72 0 100
AL | 5/ B X 17) (18) 0 8 23 69 0 100
AR/ /M E2E (112) (120) 3 5 8 85 0 100
& (96) (87) 4 7 6 83 0 100
ot (23) (31 12 12 25 42 9 100
DX /E| Rl /7| E} (88) (82) 7 7 15 70 1 100
E/5SH 3) ) 0 0 0 100 0 100
o|'a-dgk
NI (227) (216) 3 2 11 84 0 100
=c (190) (205) 5 10 15 70 1 100
[ 61) (60) 3 9 2 86 0 100
RE/REH (23) (20) 3 10 4 78 6 100
X x| "t
G =0 2IFE (354) (348) 4 9 82 1 100
el elfe] (47) (46) 0 5 90 0 100
Mo|gh (8) (8) 0 21 0 79 0 100
Rl Eh (12) (11) 0 0 16 84 0 100
o= =of H (16) 7) 0 7 10 83 0 100
O|tel/nI=Etetol Rl X0 g (20) (20) 0 0 27 73 0 100
a2 oIt EhA| (3) (3) 0 0 0 100 0 100
AS/RE/ESE (41) 47) 7 29 25 37 2 100
Hsd 382F "ot
=4 61) (59) 2 5 10 83 0 100
E| (432) (432) 4 11 79 1 100
2E/FSH (8) 9) 7 0 37 45 12 100
EX A =HR2Y "ot
=4 (294) (272) 3 5 7 86 0 100
23 (173) (197) 5 6 16 71 2 100
RE/RSH, (34) (32) 2 14 16 65 4 100
22t M ExO|E
HMI ER= 411) (393) 0 0 0 100 0 100
A3 EgZ (43) (55) 0 0 100 0 0 100
EE Z2¥ 7 (33) (35) 0 87 0 0 13 100
EE o5 9l (14) (18) 100 0 0 0 0 100
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Atgl==(F)
m A m (501) (501) 46 18 7 4 10 6 100
Ay
SXH (242) (242) 45 13 9 5 11 5 100
OofXxH (259) (259) 46 22 4 4 8 7 100
k]
18-29MI|  (55) (82) 30 30 5 3 18 6 100
30-39Ml|  (40) (60) 41 16 13 6 10 6 100
40-49M||  (66) (85) 53 10 5 7 7 8 100
50-59AMl|  (114) (99) 49 20 4 3 8 4 100
60-69MI|  (121) (89) 54 14 5 5 6 2 100
70M O|&H  (105) (86) 44 15 10 3 10 9 100
]
HEAZL 1Y (256) (285) 43 20 7 5 9 7 100
HEAZ 2G| (245) (216) 49 14 7 4 10 4 100
=
S/2/018  (16) (13) 47 23 5 14 0 0 100
A (101) (100) 44 14 13 4 7 5 100
ohof/ S A/ ME[AZ] (45) (46) 44 30 6 3 5 5 100
MAY IS/ 82Xl (17) (18) 48 10 7 1 5 12 100
APR/EE|/HEE (112) (120) 48 15 5 5 13 3 100
FHI (96) (87) 49 18 3 5 9 6 100
SHdl (23) (31) 25 34 8 0 9 9 100
2R/E|Rl/7|EH  (88) (82) 48 13 5 2 15 9 100
=/58H (3) ) 59 0 0 24 0 17 100
o|'a/det
Rl (227) (216) 56 21 1 3 6 5 100
=z (190) (205) 39 16 6 6 13 7 100
B (61) (60) 31 13 29 5 8 3 100
DE/FSH| (23) (20) 47 12 13 0 16 13 100
X xE
HEo2x=g (354) (348) 56 22 1 3 5 4 100
a0l (47) (46) 4 6 64 8 5 3 100
AYE (8) (8) 46 0 0 15 12 0 100
TS (12) (11 49 7 0 0 21 8 100
O|&ZAM #tof M2H  (16) (17) 39 12 0 5 24 4 100
Ol H/DI=EEto Rl &of HEH  (20) (20) 17 18 0 5 15 0 100
O Q| ™YO|Lt EhA| 3) A3) 42 30 0 29 0 0 100
s/2E/RSH| @) 47 22 2 0 6 38 27 100
™ a8=2% d7t
34|  (67) (59) 19 5 43 7 5 4 100
2H 0 432) (432) 50 20 1 4 9 6 100
DE/RSH (8) ) 15 0 17 10 50 9 100
EXA =EH2F "ot
24 (294) (272) 55 15 3 4 6 4 100
2™ (173) (197) 35 21 10 6 13 7 100
DE/RSH (34 (32) 33 22 10 0 23 10 100
22t &M ExEOlEk
M3 EEZ 411) (393) 48 16 8 5 8 5 100
= CE)) (55) 38 26 2 6 14 3 100
EE 23 /5 (33) (35) 24 19 3 3 24 23 100
EE o g (14 (18) 50 26 0 0 17 0 100
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m HA m (501) (501) 50 21 8 15 6 100
Aghﬂ
=R (242) (242) 48 19 7 20 6 100
Of R} (259) (259) 52 23 8 11 6 100
K]
18-29A (55) (82) 41 25 8 18 8 100
30-39A| (40) (60) 49 20 11 14 7 100
40-49M| (66) (85) 59 11 7 14 9 100
50-59A (114) (99) 52 24 8 12 4 100
60-69M (121) (89) 55 24 6 13 2 100
70M| Of A (105) (86) 45 20 6 22 7 100
e
HEAZ 1HY (256) (285) 49 20 9 14 8 100
HEAL 2 Y (245) (216) 52 22 6 17 3 100
=
S/2/0 Y (16) (13) 47 23 17 13 0 100
PNge: R (101) (100) 49 16 8 17 10 100
THo /< A/ M| A E (45) (46) 51 29 3 11 7 100
MA 7|5/ = 2 X 17) (18) 44 17 11 17 12 100
AR /e /A E2 (112) (120) 54 20 9 16 2 100
F=8 (96) (87) 56 24 6 10 5 100
ofd (23) €3)) 42 33 4 12 9 100
A& =l /7| Ef (88) (82) 45 18 7 22 7 100
DE/RSH (3) @) 59 0 24 17 0 100
o|'d-dgk
e (227) (216) 59 26 2 8 5 100
= (190) (205) 45 18 13 19 6 100
Ha 61) (60) 39 18 10 26 7 100
DE/2SE (23) (20) 47 12 0 29 13 100
X[ x|
HEofulx=g (354) (348) 59 26 5 6 4 100
=093l 47 (46) 12 7 17 52 1 100
Ho|ch (8) (8) 65 0 9 26 0 100
L= (12) (11) 49 15 0 28 8 100
o|&=N #of H (16) (17) 55 21 9 11 4 100
O|tol/RI=EILo| ] &0 e (20) (20) 36 29 21 14 0 100
1 Q| EHOo|Lt EhA| (3) 3) 42 0 29 0 30 100
g/RE/2SE (41) 47 23 2 10 47 19 100
fsd I¥2F "ot
=53 61) (59) 28 12 13 38 9 100
29 (432) (432) 54 22 7 11 6 100
DE/RSH (8) 9) 15 9 10 57 9 100
EXA =EE2Y "It
=3 (294) (272) 61 19 6 11 3 100
23 (173) (197) 38 25 10 20 8 100
RE/RSH (34) (32) 33 17 3 30 18 100
22t &M EHOIE
M2 ERx 411) (393) 52 21 7 15 6 100
A2 ERE (43) (55) 48 25 13 11 4 100
Er Z43d 8= (33) (35) 29 16 12 27 17 100
Eg o%F gle (14) (18) 65 11 0 23 0 100
SE =SigE
de4 (237) (228) 94 4 2 0 0 100
et (82) (88) 13 81 1 1 4 100
A (57) (53) 33 24 19 23 2 100
CEES (31) (33) 6 5 13 63 13 100
CIE =5 (1) 22) 3 13 61 22 0 100
E2/2E/28E (73) 77 9 9 5 49 28 100
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b supz | o8 |
A2 () =E % % % % % %
Atgl==(3)
m A m (501) (501) 13 23 24 38 2 100
FE
=RH (242) (242) 13 22 24 39 2 100
o Xt (259) (259) 14 23 24 37 2 100
e
18-29A| (55) (82) 10 24 16 49 1 100
30-39A (40) (60) 10 24 22 45 0 100
40-49M| (66) (85) 10 22 25 41 2 100
50-59A (114) (99) 15 28 18 39 0 100
60-69A| (121) (89) 19 21 28 31 2 100
70M| 0|4 (105) (86) 15 19 34 26 7 100
e
MEAY 13Y (256) (285) 14 23 20 42 1 100
HEAZ 23 Y (245) (216) 12 23 29 33 3 100
A
S/2/0 Y (16) (13) 35 26 24 16 0 100
A (101) (100) 18 20 24 37 1 100
o/ /M H| A F (45) (46) 20 34 15 29 2 100
MAY 7| 5/ =B A 17 (18) 7 20 19 51 4 100
At /2E| /M2 (112) (120) 8 27 21 43 0 100
=5 (96) (87) 13 22 25 36 4 100
St (23) (31) 4 8 25 64 0 100
F2/E| 2l /7| Ef (88) (82) 14 21 30 30 5 100
RE/RSH (3) 4) 0 0 76 24 0 100
o|'d-dgt
e (227) (216) 15 26 21 37 1 100
=c (190) (205) 9 23 28 39 1 100
B 61) (60) 24 18 18 38 3 100
RE/RSH (23) (20) 4 4 33 38 21 100
S
G0 2xg (354) (348) 16 25 22 35 2 100
=0lo|gl 47) (46) 21 7 37 34 2 100
Holg ®) (8) 0 12 51 38 0 100
L= (12) (11) 0 24 14 54 8 100
o=y &0 HE (16) 7 0 25 23 52 0 100
O|Lfcl/nI=Etetol Rl &of e (20) (20) 6 13 29 53 0 100
3 2| ZYo|Lt | @3) (3) 0 0 0 100 0 100
AS/RE/ESE 41 47 0 26 25 47 2 100
s 282 "ot
=54 61) (59) 18 12 33 35 2 100
23 (432) (432) 13 25 23 38 2 100
RE/28H 8) 9) 0 0 17 65 19 100
EXA =EHR2Y "ot
=4 (294) (272) 12 23 23 40 2 100
| (173) (197) 14 25 24 36 1 100
RE/2SH (34) (32) 18 10 31 35 6 100
22 &M ExO|E
MI Eg= 411) (393) 15 24 23 36 2 100
A3 Egx (43) (55) 7 19 23 49 1 100
8 43 /8 (33) (35) 6 18 40 33 3 100
EH oI g5 (14) (18) 4 21 6 66 4 100
FH Nte
ZAes (237) (228) 12 25 23 39 1 100
Hra= (82) (88) 26 16 18 41 0 100
MY (57) (53) 6 30 31 32 1 100
S F (31) (33) 30 2 40 23 6 100
CtE = 1) (22) 3 27 31 39 0 100
S/RE/E8H (73) (77) 6 26 19 44 6 100
CIEoRiFE S5 Mote
ey (256) (252) 10 26 22 40 2 100
Hra= (106) (105) 24 15 22 39 1 100
CIE =& (37) (38) 2 34 33 32 0 100
8/EE/2SH (102) (107) 14 18 28 36 5 100
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(F)
m HA m (501) | (501) 63 8 3 4 5 4 3 9 2 100
Ay
HXH (242) | (242) 57 11 4 3 7 5 2 8 2 100
Oo{XH (259) | (259) 67 6 2 5 3 3 3 9 2 100
il
18-29M||  (55) (82) 57 14 0 0 8 0 2 20 0 {100
30-39AMl| (40) (60) 65 6 0 4 4 5 2 10 4 100
40-49M||  (66) (85) 60 5 9 3 4 6 7 4 2 1100
50-59AMl| (114) (99) 60 5 1 8 5 4 3 10 3 1100
60-69MI| (121) (89) 68 6 6 4 3 6 1 4 2 1100
70M| O|AH (105) (86) 66 13 1 2 5 4 0 5 5 1100
Xy
HEAIZL 13Y| (256) | (285) 63 7 4 5 4 3 9 3 1100
HFEAZL 238G 245) | (216) 62 9 4 5 5 3 8 2 100
A
S//01  (16) (13) 76 14 0 6 0 0 0 5 0 {100
AHA (101) | (100) 61 10 6 3 5 6 2 6 1 1100
THOf/ G /M H| AR (45) (46) 75 4 5 2 1 2 3 4 4 1100
MAY 7| S/ 2E] (17) (18) 50 7 9 8 0 0 0 11 16 i 100
APR/EE/MEX] (112) | (120) 58 5 2 5 10 3 6 9 1 100
ZFHI(96) (87) 65 5 2 6 3 8 3 8 1 1100
shMl (23) (31) 46 20 0 0 10 0 0 25 0 {100
S 2I/E[Rl/7|EH (88) (82) 68 1 1 2 1 4 0 8 5 1100
E/2SHl 3 ) 59 0 0 0 24 0 0 0 17 1100
o|'d/dgk
REl 227) | (216) 73 2 4 6 4 1 3 5 1 100
ZZ| (190) | (205) 58 7 2 2 6 6 3 12 4 100
B (61) (60) 39 32 2 2 8 10 0 8 0 100
DE/2SE (23) (20) 60 8 5 4 0 0 0 14 9 {100
X x| "t
HE0{QIFEH (354) | (348) 83 0 3 4 3 2 2 2 1 100
=00l (47) (46) 3 76 0 0 2 6 2 8 4 100
Holdt|  (8) 8) 41 0 38 0 0 9 0 12 0 100
FEHEH (12 (11 8 0 0 51 0 0 14 21 7 1100
ol &of HE (16) 7) 17 7 0 0 73 0 0 0 4 1100
O|Ltol/RI=E ROl &0 HY| (20) (20) 33 5 0 0 5 57 0 0 0 {100
1 e Eo|Lt BNl (3) 3) 0 0 0 0 0 0 100 0 0 100
AS/RE/ZSE| @) (47) 17 6 2 0 0 0 2 61 13 100
s 28=2F "ot
23 (61) (59) 22 46 3 0 6 10 4 9 0 {100
Bl 432) | 432) 69 2 3 4 5 3 3 8 2 1100
DE/ESE| 8 9 16 45 0 0 0 10 0 12 18 i 100
EXA =E2F "ot
23| 294) | (272) 69 6 4 3 6 6 1 4 1 100
BH™ 173) | (197) 54 11 2 5 5 2 5 13 3 1100
DE/ESE| (34) (32) 56 10 2 2 3 3 0 19 5 1100
22 M Emold
M3 EEZ| (411) | (393) 65 8 3 4 6 5 3 4 2 1100
A2 ERZE| (43) (55) 53 9 3 2 6 4 2 15 6 {100
EE 23 /8| (33) (35) 44 7 7 0 0 2 3 35 3 1100
EH OF Q8| (14 (18) 63 0 0 6 0 0 0 31 0 {100
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el %
a g2 My =
A% (@) A B B R LT T Y RO R
R = = = orCh orCh e <
zaez | e | .
() % % % % % % % %
Ara1|¢(%;')
= HA m (501) (501) 5 16 21 22 53 75 5 100
e
SHXH O (242) (242) 6 20 26 20 50 70 5 100
OofXt  (259) (259) 3 13 16 25 55 80 4 100
il
18-29M|  (55) (82) 3 30 33 29 35 65 3 100
30-39Ml|  (40) (60) 4 20 24 18 54 72 4 100
40-49Ml|  (66) (85) 6 18 23 17 54 72 5 100
50-59AMl|  (114) (99) 0 11 11 20 67 86 3 100
60-69M| (121) (89) 8 12 20 23 54 77 3 100
70M O|&H  (105) (86) 8 7 15 27 49 76 9 100
X
HEAIZ 139 (256) (285) 5 16 22 19 54 74 5 100
HEFAIZE 23S (245) (216) 4 15 19 26 51 77 4 100
A
s/A/00  (16) (13) 0 10 10 16 69 85 5 100
RG> (101) (100) 3 17 21 21 55 76 4 100
o/ ?Q/MHW' (45) (46) 8 15 23 16 55 70 7 100
MA |1 S/=2E (17) (18) 0 21 21 30 40 71 8 100
AH/EJEVE—E&' (112) (120) 6 19 25 19 56 75 1 100
FH (96) (87) 6 11 16 29 50 79 5 100
ShHAll (23) (31 0 40 40 24 29 53 7 100
SE/EIR/7|EH  (88) (82) 4 5 9 26 58 84 7 100
RE/ESH| @) ) 24 59 83 0 0 0 17 100
o' g g%
Tl (227) (216) 4 15 19 17 61 79 3 100
=2 (190) (205) 4 20 23 28 45 73 4 100
B (61) (60) 11 14 24 20 51 71 4 100
RE/RESE|  (23) (20) 4 0 4 29 44 73 23 100
X x| "t
HEOIF (354) (348) 4 14 17 21 59 80 3 100
ool (47) (46) 5 11 16 12 62 75 10 100
Ho|=h (8) (8) 12 35 47 24 29 53 0 100
TS (12) (11) 0 0 0 21 64 85 16 100
Ol=M ®O HE| (16) (17) 24 59 83 5 9 13 4 100
O|LtCl/DI=EIEtol ]l X0 FE| (20 (20) 8 22 30 38 32 70 0 100
1 2| JEo|Lt | (3) 3) 0 0 0 42 59 100 0 100
S/EE/RSH| @) 47 5 19 23 44 22 66 11 100
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24|  (67) (59) 9 16 25 19 50 68 7 100
2™ 432) (432) 4 16 20 23 53 76 4 100
RE/REHl © ) 0 9 9 28 39 67 24 100
EXA =E2F Fot
=23 (294) (272) 6 15 21 24 52 76 4 100
2™ (173) (197) 3 17 20 23 53 76 4 100
RE/RSH| (34 (32) 7 15 22 10 54 63 15 100
22t &M EHEOE
M ERE|  (411) (393) 5 14 19 19 58 77 4 100
23 EEEl  (43) (55) 5 25 30 32 33 64 6 100
E8r Z2Y 82| (33) (35) 2 30 32 35 24 59 9 100
B8 o8 Qi (14 (18) 0 10 10 36 51 87 4 100
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Atgl==(F)
= MA m (501) (501) 7 12 19 22 55 77 4 100
a4
SEXH  (242) (242) 9 1 20 20 55 75 5 100
O{XH (259) (259) 5 12 17 24 56 79 3 100
)
18-29Ml|  (55) (82) 2 22 23 43 28 71 6 100
30-39Ml|  (40) (60) 12 25 37 17 44 61 2 100
40-49M|  (66) (85) 8 14 21 13 64 77 2 100
50-59AMl|  (114) (99) 4 5 9 15 72 88 4 100
60-69AM|[  (121) (89) 7 8 15 18 65 83 3 100
70M O|&H  (105) (86) 10 4 14 25 53 78 8 100
N
MEAZ 13HY  (256) (285) 7 12 19 23 55 78 4 100
HEAZ 2G| (245) (216) 7 12 19 21 56 77 4 100
A
=/2/01e  (16) (13) 5 6 11 16 73 89 0 100
AE (101) (100) 10 9 19 16 65 81 1 100
ohof/ A A/ MBI AR (45) (46) 4 15 19 24 50 74 7 100
MAY IS/ 82Xl (17) (18) 0 17 17 26 45 71 13 100
APR/ERE /2R (112) (120) 6 19 25 13 62 75 1 100
FHI (96) (87) 8 8 17 24 58 81 2 100
ShAl (23) (31) 0 11 11 47 29 77 12 100
FA/E[Zl/7|EH  (88) (82) 10 7 17 28 46 74 9 100
RE/REH (3) 4) 0 0 0 83 0 83 17 100
o|' A/ g&k
Rl (227) (216) 3 9 12 18 69 86 1 100
=g (190) (205) 7 14 21 27 46 73 6 100
B (61) (60) 18 14 32 20 45 65 3 100
DE/FSH| (23) (20) 12 11 22 15 43 58 20 100
X xE
HEOQFZ (354) (348) 4 10 14 18 66 84 2 100
Zalojgll  (47) (46) 22 13 35 22 37 59 6 100
Ho|gh 8) 8) 0 12 12 36 53 89 0 100
LY (12) (11) 0 0 0 14 60 74 26 100
O|l=AM &0l HE (16) (17 0 19 19 56 25 82 0 100
O|Ltol/BI=EIEo|) &of ™E| (20 (20) 59 31 89 8 3 11 0 100
1 Q| ™EHo|Lt EhA| (3) 3) 0 0 0 42 59 100 0 100
=s/2E/RSH| @) 47) 0 18 18 42 25 67 16 100
s 282 "7t
34| (67) (59) 25 17 42 24 29 52 6 100
2H 432) (432) 4 11 16 21 59 81 4 100
RE/REH 8) 9 10 0 10 28 47 75 15 100
EXA EH2F "ot
23| (294) (272) 9 13 22 20 55 75 3 100
2H (173) (197) 5 10 15 27 55 81 4 100
DE/ESHE| (39 (32) 7 9 16 7 63 70 14 100
22t B4 EmolF
M3 EEEF  @411) (393) 7 10 17 17 63 80 3 100
A2 EREF 43) (55) 9 24 33 39 23 62 6 100
EE 23 /5| (33) (35) 2 17 19 35 36 71 10 100
58 oF o8 (14 (18) 0 6 6 51 34 85 9 100
I
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(B 12] §YXX| =
[E12&E12-1] MMHANME O 5 O/ JEO|Lt THE X|X[SHA LIt BT
CHAO A =20I2tE O ZZ0| 7hs HQIVIR? BI|=
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el . st wR8 29l yogh oo
Atgfl= (&) e glolal: dolgt | e | FHojsi= =l ol FEo[Lt o oegt A
e alEh FojstE | EHA| oo T oF
HH| gg =°
=7t
zaez| LU
WNEES AFEHOA % % % % % % % % % i %
C) o
(F)
m M @ (501) | (501) 70 9 2 2 3 4 1 8 2 100
a4
XN (242) | (242) 61 14 2 1 6 5 1 8 2 1100
OofXH (259) | (259) 77 5 1 3 1 4 1 8 1 100
Vil
18-29AM||  (55) (82) 55 9 0 1 8 1 2 22 1 1100
30-39A|  (40) (60) 53 12 0 2 8 10 0 10 6 100
40-49M||  (66) (85) 83 5 4 0 0 3 1 4 0 {100
50-59A| (114) (99) 74 7 2 6 1 2 1 8 0 100
60-69Ml| (121) (89) 76 9 3 2 4 4 0 3 0 100
70A| Old| (105) | (86) 69 15 0 1 2 7 0 3 4 1100
X
HEAZL 18 256) | (285) 72 8 2 3 2 1 9 1 100
HFEAZL 238G 245) | (216) 67 10 3 4 6 1 7 2 100
=
/Y0 (16) (13) 81 19 0 0 0 0 0 0 0 {100
AHH (101) | (100) 69 13 2 2 5 5 1 3 0 {100
oHOf /S A/ MH[AZ] (45) (46) 82 6 2 3 1 2 3 1 0 100
MAYI|S/=2E (17) (18) 66 7 0 4 0 0 0 11 12 100
AR/ /HEE] (112) | (120) 68 6 2 3 5 3 1 10 1 1100
ZFHI (96) (87) 80 4 2 1 1 6 0 6 1 100
sHMl (23) (31) 51 20 0 0 5 4 0 17 4 1100
SE/E|Zl/7|EH  (88) (82) 64 12 1 2 0 5 0 15 2 1100
E/2SHl 3 ) 0 0 0 0 83 0 0 0 17 1100
o|'d/dgr
RE (227) | (216) 85 2 2 3 1 2 1 3 11100
=2 (190) | (205) 62 7 2 2 6 6 1 13 3 1100
H2 (61) (60) 42 38 2 0 6 6 0 7 0 {100
BE/E8H| (23) (20) 61 17 0 8 0 0 0 14 0 100
s I82F "ot
=23 (61) (59) 19 58 3 0 9 8 0 2 2 1100
B 432) | 432 78 2 2 2 3 3 1 8 2 1100
2E/RSH © 9) 7 26 0 8 0 10 0 50 0 100
EXAF EE2E "It
28| 94) | (272) 76 7 1 1 4 5 1 4 11100
BH™ (73) | (197) 63 11 2 3 4 3 1 13 2 100
RE/RSH (39 (32) 60 16 3 6 0 0 0 12 4 1100
22t ZEM EEO|T
XM EEZE 411) | (393) 73 10 2 2 4 4 1 3 2 100
A2 ERE (43 (55) 58 4 0 3 3 10 0 22 0 100
EE 2™ SH| (33) (35) 43 7 5 0 3 0 0 39 3 1100
= O els (14 (18) 82 0 0 0 0 0 0 18 0 100
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